e cross section: c = n R?
[c]=barn 1 b = 10-2*cm?
1 mb = 10-27 cm?
1 fb =103 cm?
strong interaction: c(nN) ~ 100 mb

¢ interaction radius: R = Jo/n
R (strong) ~ J10-3%m2 ~ 105 m =1 fm = 1 fermi

o lifetime: t=R/c = reaction time
T (strong) =1 fm / c = 3 x 10?4 s

e uncertainty relation: h=I1
h c = 200 MeV fm = AE AR

e decay width: r=hi/t = hic/R
energy scale r=E

=200 MeV fm / R
E (strong) = 200 MeV T (strong: A, p) = 120-150 MeV

e coupling constant: F=ahc/r? electric force
o= e2/ (4r hc) dimensionless (g,=1)
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